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(at+b)*=a*+2ab+b?
(a+b)’>=(a-b)>*+4ab
(a-b)*=a?-2ab+b?
(a-b)>=(a+b)>-4ab
a’>t+b*=(a+b)>-2ab
a*+b’*=(a-b)*+2ab
22 +b2_(a+b)’;-(a—b)2

2(a?+b?)=(a+b)*+(a-b)?
a>-b*=(a+b)(a-b)

10) ab=(32y-(5)?

11) 4ab=(a+b)?-(a-b)?

12) (at+b+c)*=a*+b*+c2+2(ab+bc+ca)
13) a*+b*+c?=(a+b+c)>-2(ab+bc+ca)
14) 2(ab+bc+ca)=(a+b+c)>-(a>+b?+c?)
15) (a+b-c)*=a*+b*+c?*+2(ab-bc-ca)
16) (a-b+c)*=a?+b?*+c?-2(ab+bc+ca)
17) (a-b-c)*=a?+b*+c2-2(ab-bc+ca)
18) (x+a)(x+b)=x>+(a+b)x+ab

19) (p+x)(q+x)=pqH(q+p)x+x*

[52->q 779 3 @q o113 l]

SRR DA NGE R (CERaLIGH

3@ (1) &2 | (T 3d |

(a+b)’ = (a+b)(a+h) = a.a+a.b+a.b+b.b = a>+2ab+b’ [ B [(AF T |

514 (2) gaAiqe
(a+b)? = a’+2ab+b* = a>-2ab+b’+4ab = (a-b)*+4ab
34 (3) &AIAe | (T 3d |
(a-b)* = {a+(-b)}? = a™+2a(-b)+(-b)* = a’-2ab+b’
34 (4) gAIqe
(a-b)? = a’-2ab+b*= a>+2ab+b>-4ab = (a+b)>-4ab
34 (7) gaiqs
(a+b)? = a>+2ab+b?
(a-b)? = a’-2ab+b’............ (ii)
(i)+(ii), (a+b)*+(a-b)? = 2a>+2b>
0, (a+b)+(a-b)? = 2(a>+b?) [ 3@ 8 FAIfq0 |

t (a+b)*+(a=b)> _
i) 2 -
519 (10) JAIF8
(a+b)? = a>+2ab+b’...
(a-b)? = a’-2ab+b’.
(i)-(ii), (a+b)*~(a-b)* = 4ab [ 3@ 11 &AIfqO |
3, (a+h)2;(a—b)2 —ab

a’+b?

;-0 =ab
@ (12-17) (a+b)? T, (a-b)2 7T A
579 (18-19) VY ¥ FH AR




BRI 8 HPAAIR [HeTqa @ wiofies

Type 1 : 3@« AR 3f 92

Type 2 : AT PF 2

5874x5874+3774x3774-7584x5874 (7)

7529+7519 (8)
8.625x8.625—2%x625%6.375+6.375X6.375

8.625-6.375

Type 3 :

x-y=2 QR xy=24 (T, x+y 99 19 9?2
a+b=7p YR ab=12p? (T, a-b YT FIq FO?
at+b=7 QR ab=12 (T, a-b YT JF FO?
a-b=4 QIR ab=60 AT, a+b UF I PO?
x-y=2 QR xy=63 (T, x2+y> 9 JId FO?

AN < A o

Type 4 :

=

x+y = 10, x-y = 2 (T, (i) x*+y” (i) xy — 99 A4 BLEEER
2. M a+alb b= 3 QIR a>+ab+b’ = 3 T, OF a>+b? JF (AT F9 9
3. a*talb b'= 8 QI a tabtb’ = 4 (A, a>+b> QI ab JF (AT T 9

Type 5 :
(1) X -2 =4 T, AT IR, X + =322
(2) 2x - 2= 3 A, X2 + L A fqd7 592
(3)a+§=2W,WW@,a2+§Z=a4+$
(4) x - %= a X, X2 + L A fqq7 392

1 C
(5)x -3 =p XV, 1= Q7 A A F92

()X + =4 T, o—— GI T [ 392
NX-2=13@, 2 qgaAfafg a9
X X“+X+1

(8) X =3 + V2 A, X + L A fadm 59 2

(9) X2 + = = 10 XCT, AT 3G @, X =3 + 2
(10) P=3 + 1 0T, &I BN @, P = 119- 12

(1) P =119 - T, FAT IR @, P=3+3 2

(12) X* + 5 =2 00, (S PATF, X + 1=22

(13) X'+ 5 = 0 2T, (AN BRI A, X + 1 =2 |(VZ +1)?
(14) X*~2x +1 = 0 T, (AN (x> + =5 =22
(15X +==V2 T, FAT IR, 2 + =02
Type-6 :
1. atb=V7,a-b=V5 I, P FEI , 8ab(a>+b?)=24
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2. a+b—“§+‘/7, a-b—ﬁs‘J2 RF, O 4ab.2(a>+b?) 9T JF BREEER]
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(1) 4x+5y (2) 3a-7b (3) 2ab+3bc (4) x2+y12 (5)a+=(6) ab-c (7) 5x*y (8) a+3b (9) 5x*-y (10) x+2y+4z (11) 3p+4q-5r
(12) 3b-5c-2a (13) ax-by-cz (14) = + = - = (15) a-brre-d (16) 2a+3x-2y-52 (17) 101 (18) 996 (19) 997 (20) 1007

(1) (2a+7)+2(2a+7)(2a-7)+H(2a-7) (2) 3x+2y)+2(3x+2y)(3x-2y)+(3x-2y)* (3) (7p+3r-5x)*-2(7p+31-5x)(8p-4r-

5%)+H(8p-4r-5x)* (4) (2m+3n-p)>+(2m-3n+p)>-2(2m+3n-p)(2m-3n+p) (5) 6.35%6.35+2X6.35%3.65+3.65%3.65 (6)
7529%7529-7519%x7519 2345%2345-759%x759

)
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JATFIeT0 9L a8
1. (a+b)* = a’+3a’b+3ab’b’

. (a+b)’ = a*+b’+3ab(a+b)

. (a-b)* = a’-3a’b+3ab’+b’

. (a-b)’ = a’-b*-3ab(a-b)

. a'+b*= (a+b)’-3ab(a+b)

. a*+b’ = (a+b)(a’-ab+b?)

. a>-b’ = (a-b)*+3ab(a-b)

. a>-b’ = (a-b)(a’+ab+b?)
9.(x+p)(x+tq)(x+r)

=pqr+(pq+qr+rp)x+(p+q+r)x2+x3

ORI KIGIANG ERS (GERALIGH

FA(Aa: (@)

(a+b)® = (a+b)(a+b)? = (a+b)(a>+2ab+b?) = a(a>+2ab+b?)
= a’+2a’b+ab*+a’b+2ab>*+b?

= a3+3a’b+3ab*+b?

J4(2) gl

(a+b)’= a*+3a’b+3ab*+b® = a*+b*+3ab(a+b)
JA3)AAIqs

(a-b)*= (a-b)(a-b)> = (a-b)(a>-2ab+b?) = a(a*2ab+b?)-
b(a>-2ab+b?) = a3-2a’b+ab?-a’b+2ab?-b?

= a3-3a’b+3ab?-b?

% (a-b)® = {a+(-b)}* = a*+3a2(-b)+3a(-b)*+(-b)* = a*-
3a’b+3ab2?-b?

S]4(4)YAIF8 (a-b)® = a’-3a%b+3ab-b* = a*>-b*-3ab(a-b)

SA(6)AAFe a*+b® = (a+b)’-3ab(a+b) = (a+b){(a+b)*
3ab} = (atb){a>+2ab+b>-3ab}

= (a+b) {a*+2ab+b>-3ab} = (a+b)(a2-ab+b?)

1@ a’-b*=(a-b)*+3ab(a-b) = (a-b){(a-b)*+3ab}
= (a-b){a*>-2ab+b?*+3ab}

= (a-b)(a*+ab+b?)

JA(5)qA3 @9 FI QR |
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Type-2

1.
2.
3.

[
o

1
N

1
W
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CLIEERRA b RIS RERCENSINECEABERIGEIE

Type-1: 4 fA 33 2

2x+3y

2x-y

2x*+3y?

4a-5x>

Tm?>-2x

403

2a-b-3c
2x+3y+z

- q%q ff F32
(Bx)(4+x)(7+x)
(atx)(b+x)(ct+x)
(4+x)(3+x)(2+x)

Type-3 : 9T P2

(4a-3b)*-3(4a-3b)*(2a-3b)+3(4a-3b)(2a-3b)>-(2a-3b)?
(2x+y)*+3(2x+y)*(2x-y)+3(2x+y)(2X-y)*+(2x-y)*
(7x+3b)*-(5x+3b)3-6x(7x+3b)(5x+3b)
(x-15)*+(16-x)*+3(x-15)(16-x)
(atb+c)*-(a-b-c)*-6(b+c){a>-(b+c)?}
(m+n)6-(m-n)6-12mn(m?*-n?)>
(x+y)(x*-xy+y?)+(2x-3y+4z)*+12x {4x*-(3y-47?) }
(2x+3y-4z)*+(2x-3y+4z)’+12x {4x*(3x-47?) }

(a+ b)® -(a — b)® -12ab(a2+b?)

a-b=>5, ab=36 A, a3-b>9qF I F0?

a’-b*=513,a-b=3 (T, ab QS JIq $O?
a+tb=m,a?+b*=n,a3+b*=p* (T, AFF FI &, m*+2p*=3mn
x-y=8,xy=5 (T, x>-y*+8(x+y)? Y Fd $O ?
X+y=5,xy=6 (T, x*+y*+4(x-y)? 95 qIq F0?

x-y=8, xy=65 T, x3-y*-16(x-y)> 9F H[q FO?

a>/3a+1=0 (T, a3+£ qF Jiq $9°?
a=V/3 + V2 (A, a3+a—13=18\/§ AT 2
m+mi:a RIGH m3+mi3 GE Fiq 92
x-xl:p U, x3-é 99 9 $9?

a-alzl U, AP A, a3-$:4

2x-2=3 T, (NS &, 8(x3-$):63
a=V6 + V5 T, "L @I A 07
(a+al)2=3 A, AAA I A, a2+a%=0?
x+xl:\/ 3 (T, x3+xé GF Jiq $02

| 2x5=5 A Ax - AR 8x*—— QF FJ FO?
11.
12.

13.

27x3
x* +ﬁ=1 19 (A, FFT FF A, x3-x%= 362

p=3+2v2 A, (p3+pi3)x(p2+piz) QY FI9 O AE?
x=V5 + 2v6 (A, X'+ 93 A7 F0?

AR A A A A A A A A A A A A A A A A A A A T A T T T T T T T T AT A A A A A A A T T T T T T T T T T T T AT AT D D D AT TTTTTTTTATTTTTRRRRRR R R R R
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14, x+1=3 A, x5+ AT AT IO IR

15, a+ =2 ], WW@ al +—= —a1°+_
Type-6 :

1. a+b=3,ab=2 T, (1) a>ab+b? (2) a+b* 4T FIF FO?
a-b=5,ab=36 (T, (1) a>+ab-+b? (2) a-b* 9T TF 9
x+y=2,x*+y?*=4 (T, x*+y* 9F JIq $O?
a+b=3,ab=2 AT, a3+b* YT JIqd $O?
a3-b’=513,a-b=3 R, ab U JIJ $O?
a-5=5,ab=36 T, a3-b> 9F JIq $O?
x+y=a,x+y?=b2 x*+y*=c* PN P @, a*+2c’=3ab>
at+b=c (T MAM3 (@, a’+b*+3abe=c?

x=19,y=12 (T, 8x3+36x2y+54xy*+27y* UF FIq $O?

a=15 A, 8a*+60a>+150a-130 9F A fAf F32

a=7,b= -5 (T, (3a-5b)*+(4b-2a)*+3(a-b)(3a-5b)(4b-2a) U JIq FO ?
x=37 (T, 8x7+72x+216x+216 93 Tq $02

Typ

at+b+c=0 AT, AT PET , a*+b*+c=3abc?
(b+c)2 (c+a)2 (a+b)*

atbc=0 RCT, AT PET @, =+l

p-g=r 0, A IET @, p*>-q*-r*=3pqr

x+y=1 T, HAT FET A, x>+y*-xy=(x-y)?

x+y+z=0 0, AT IET @, x3+y*+23=3xyz?

WW
Type 4 : (1)665(2)54(4)1304(5)39(6)1048
Type 5 : (1)0(3)a>-3a(4)P*+3p(6) (7)46V/5 (9)0(10)—135(12) (13) (14)

Type 6 : (1)3,9(2)133,665(3)8(4)(5) (6)
Type 7 : (1)8(2)42880(3)1728(4)512000
TeAMC [HeIvT
Ity 0 1 T 21w 23 I ©rolfEF T I 10R @TTER ST ], BIE IS JIHQETR AN
A FXT TAWP I SqqTS I AR | BATS I SATIET FATPA AN @ FPIE AP A

A2 24=1x24
=2x12
=3x8
=4x6

24 O SAATS I BATF = 1,2,3,4,6,8.12.24
Ao ANOT T It RS ANOT @daRTF: @ 6T T TSR FFa TAMT @F IE A T
SRATMPLTETR SAPAFC AP FIE SAME REIT I 92 FoifTo R TR Soiivs @F FI0
g fARAIRE A3 F1400 @ | TR AT AEBAT FE @ | OIRIGT, HIES FA 1400 F@ @, AERY
CRAMCPH TP SAPA AIPIE PP (0 A, IR qF FeApe! [{foq 759 00 *ME | @qAs
i (=) (@ -ade )0+ @34

L1

8

S(82% +1)=2{(2a)* + 1%} =2 (2a + 1) {(2a)? —2a.1+ 1%} =2 (2a + 1) (4a® — 22+ 1)

o & 0D P o B~ WP o oo N o s WD
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rersifaory M Sesime Reaad w9 g ST fazras
1st Method : 39 — AT G 8T FIE TR Tesins WL T4 @1 I 47 I F99 @19 S 57

FPETIE tod! 1 IR Fal @F9:

1) 3a®b+6ab?+12a2b?

2) 2ab(x — y)+2bc(x — y)-3ca(x — y)

2nd Method : 3@ — fAGIT0 (B8 T [ca A F71 IR 54t 1 21 3 31 51 99 AFIE AP F717

IR R ] oAy (o Rl 9 IR fFAT

1) 4x*+12x+9

2) 9x*+14xy+5y*

3) 8x*+3x’y+54xy*+27y’

4) a%-64

O @1 AL AR Sy (1 Sspfe O s
a’>-b>=(atb)(a-b)

a*+b*=(atb)(a*t+ab+b?)

a’-b’=(a-b)(a%-ab+b?)

(x+a)(x+b)=x*+(a+b)x+ab
(p+x)(a+x)=pqt(p+q)x+x?
(p+x)(qtx)(r+x)=pqr+(pqtqrtrp)x+(p+qtr)x*+x*
3rd Method: Middle term/Middle fectore/Breakup Syestem: QO[O (31 FIC0 @ Middle term I AT It

Middle term FIF &q7 FIPITTI CofF 31 I a1 @F2

IOl B W =

1. x%-5x+6

2. x%2x-35

3. x%+x-20

4. 12x*+35x+18
5. 3x>-x-14

Middle term 1 ©OKJ8 5T T AMT ﬂﬁm M I 9,,091 ,8,071,9.v 03l 8,07l ¢do,0
3071 7, BT Middle term 8| GG T, FHATTE ASFIH 2 I @1 ¢ IM AIENS ATH ANSIET
A F O Middle term 8| (TIFS a*+a2+3, a2+a+5.

Middle term 2 O3 Wﬁ?i QIR AT @ (iR @, @, @UE-FAE Middle term S]a A

PACO F mﬁm-mﬂmwa%aﬂﬁﬁm‘mﬂa(*if#ﬁmmwwﬁ|%mﬁ
TS RCINCTT P Middle term 93 #1900 fAwie sjaft w1k-1E 91 I

x?t+(atb)x+ab=(x+a)(x+b)
A x2-5x+6

= x>-3x-2x+6

= x(x-3)-2(x-3)

= (x-3)(x-2) ans.
x>-5x+6
=x>-(2+3)x+2.3
= {x+(-2)} {x+(-3)}
= (x-2)(x-3) ans.

LSRR D RIG LIRS IR CEILGRIGEIE

a(xt5y)+3(x+5y)
ax+by+bx+ay
1+a+b+ab
ab+a-b-1
a?-c2-2ab+b?
(atb-3c)*-a-b+3c
4x2-y*-7*+2yz.
at+4

ORI OOl & GOl =
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9.

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25z
26.

27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.

39.

40.
41.
42.
43.
44,
45.
46.
47.

48.
49.

AR A A AR A A A A R R A A A A A A A A A AT T T T T T T A AT T A A A A A T T T T T T T T T T T T T AT A D AT TTTTTTTTATTTRRRRRRR R R

x*+x2+25

12a*+3b*
a?-b?-2ca-2bc
x4+2x2+9

a*-27a%+1
2ab-a2-b>+c?
a*-27a%+1

a-1+2b+b?

(R-2r)?-r2

a’+8

m*-8m

X3+3x24+3x+2

V2x+2x2
8-a>+3a%b-3ab*+b3
AR3?-Ar’*+AR?h-Ar’h
16x2-25y*-8xz+10yz
24/2x3+125
Sm(v+24)>om(v+u)?
x>+x-20

x2-8x-20

x2-12x+20

x2-19x-20

x>-21x+20

y2+2y-3

U2-30U+216
x*-10x2+16
x0-7x3+12

X6 y6 _X3y3_6

a®-at-2

Tp*-p-8

§p2-3p+4

3y*+11y+6

4x2+5%x-6
(xty)*-4(x+y)-12
x*+3x3-5x2-15x
14(x+2z)*-29(x+z)(x+1)
(4a-3b)>-2(4a-3b)(at+2b)-35(a+2b)?
14(x+2)>-29(x+z)(x+1)+5(x+1)?
(a-1)x*+a*xy+(at1)y?
(T8 (@, x*+9x>+26x+24=(x+2)(x+3)(x+4)

(A8 @, (x+1)(3x-1)(3x-4)=(3x2+2x-1)(3x>+2x-8)

g IO« T 3 T
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A

(1) (a™b?)(x*-y?) + 4abxy
= a’x?-a%y’-b’x*+b%y*+4abxy
= a’x*tb%y?*-a%y*-b*x*+2abxy+2abxy
= a?x>+2abxy+b?y?-a?y*+2abxy-b*x?
= (ax)*+2ax.by+(by)>- {(ay)*-2aybx+(bx)?}
= (ax+by)*(ay-bx)?
= (axtbytay+bx)(ax+by-ay+bx) Ans.
(2) a’-9b*+(atb)?
= a’>-b*+(atb)*-(2b)?
= (a-b)(a*tab+b?)_{(at+b)-2b} {(at+b)*+(a+b)2b+(2b)*}
= (a-b)(a*tab+b?)+(a+b-2b)(a’+2ab+b*+2ab+2b*+4b?)
= (a-b)(a*+ab+b?)+(a-b)(a*+4ab+7b?)

AR A AR A A A A A A A A A A A A A A A A A AT T T T T T T T AT A A A A T T T T T T T T T T T T T AT A D D AT TTTTTTTATTTTTRRRRRR R R

POOOPOPI OIS PIPIPIPIPIPPPPPEPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPPIPPEPPCPOPPPICPPPPLPPPPPPCPOPPPOPPPPPCPPPPPOPPPPPPPPPPPOPPOPPPPPPPPPPPOPEPPPPEPPPPEPEPPPPEPIPPPPPPPPPPPPPPPPPPPPPPPP

Ve



PSPPI PSPPI PSPPI PPPPPIPII PP PPPP PP IPPP PP PP PP PP PP PP PP PP PP PP IPI PP I PP I PP IPI PP IOPOPIPIIPIPIPIOPIOIIPIPIPPPPIPIIIPPIIIIPIIPIIIIPIOPIPIPIIIIIIIIIIIPIIIIIIIIIIIPIIIIIIPIIPPPIIIIPP

A

AR A T AT T T T T T T T T T T T T T A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T TITTTTTTTTATAAAAAR R R RN

= (a-b)(a*+ab+b*+a*+4ab+7b?)
= (a-b)(2a>+5ab+8b?) Ans.
(3) a’-9b*+(a-b)?
= 2>-8b*+(a-b)*-b
= a3-(2b)’+(a-b)*-b?

= (a-2b) {a’+a.2b+(2b)’}+{(a-b)-b} {(a-b)*+b(a-b)+b*}
= (a-2b) (a’+2ab+4b%) + (a-2b) (a’-2ab+b*+ab-b*+b?)

= (a-2b) (a’+2ab+4b%) + (a-2b) (a’-ab+b?)
= (a-2b) (a’+2ab+4b*+ a*-ab+b?)
= (a-2b) (2a’+ab+5b%) Ans.

JA M0 A A, a3-9b>+H(a+b)’— (at+b)* AT 57 b AW 8b
a3-9b*+(a-b)’ > (a-b)* R > 8b* AW b

(4) x*+3x-a%-a+2

= x’+3x-(a’+a-2)

= x’+3x-(a’™+2a-a-2)

= x’*+3x-{a(a+2)-1(a+2)}
= x*+3x-(a+2)(a-1)

= x*+(a+2)x-(a-1)x-(a+2)(a-1)[3x = (a+2)x-(a-1)x = ax+2x-ax+x = 3x]

= x (xta+2)-(a-1)(x+at2)
= (xtat+2)(x-a+1) Ans.

Q[ i) x*-x-(a+1)(a+2)
ii) x*-x-(a’-5a+6)
iii) x*x-(a+1)(a+2)
(5) X(x+3)(x+4)(x-1)+4
= (X™3x)(x*-x+4x-4)+4
= (X™43x)(x*+3x-4)+4
= a(a-4)+4 [x*+3x=a ﬁﬁ]
= a’-4a+4
=a’2.a.2+2?
=(a-2)°
= (x™+3x-2)°
= (x*+3x-2) (x*+3x-2) Ans.
O H8 i) 4(x+1)(2x+3)(3x+2)(6x+1)-6
ii) a(a+1)(a+2)(a+3)-15
iii) (x+1)(x+3)(x-4)(x-6)+24
(6) 5(x+y)*+18(x*-y*)-8(x-y)’
= 5(x+y) +18(x+y)(x-y)-8(x-y)’
= 5a%+18ab-8b” [x+y=a, X-y=b ﬂﬁ]
= 5a’+20ab-2ab-8b’
= Sa(at+4b)-2b(at+4b)
= (at+4b)(5a-2b)
={(xty)+H4.x-y)}{5.(xty)-2.(x-y)}
= (x+y+4x-4y)(5x+5y-2x+2y)
= (5x-3y)(3x+7y) Ans.
(7) (a+b)x*-2ax+(a-b)

SatYide T i,
atb=m............ (1)
a-b=n............... (i1)

(D),

g 1Y = mx’-(m+n)x-+n
= mx’-mx-nx-+n
= mx(x-1)-n(x-1)
= (x-1)(mx-n)
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= (x-1){(at+b)x-(a-b)}

= (x-1)(ax+bx-a+b)

= (x-1)(ax-a+bx+b)

= (x-1){a(x-1)+b(x+1)}

= (x-1)(x-1)(x+1)(atb) Ans.

Q78 1) (a-1)x*+a’xy+(a+1)y” [ Hints : (i)x(ii)]
i) (a-m)x*+(x-y)xy+(m-x)y” [ Hints : (i)+(ii)]

SIS ATy

7 % |B SEERH
x-1]6x>-7+6 | 6x-1
6x%-6x
-x+5
-x+1
4
9,

OIS, f(x) = 6x>-7x+6 ; OGP (x-a) = (x-1) ; OINPT h(x)=6x-1, ©INFH, f(a)/r = 4

O, Of6] = OGP x BNPY + BN = (x-a) X h(x)+f(a)

IR, f(x) G (x-a) AT Ol FICT BN f(a) TR | GBI SBIFNCTT BAT | f(x) 9F AWM 3t Koty 2@
LR BT = 0 IE | 9T BATS SANTT It Factor theorem I | SICTT ST AT St fadg
93 A& O Vanishing Method 1 {1 ARO I

12
2 24 f(x) =24, f(a) =0, h(x) = 12, (x-a) =2
24 24=1x24
0 =2x 12
=3x8
=4X6

(x-2/3/4/6/8),1(x) 9T G0 SATF FIF, ST oA £(2/3/4/6/8) = SINCT 0 TR
Rl (I IR f(x) & (x-a) 7 O FAE f(a) I ST F0 @ ©F B qf FEF TAR &0 ST
G2 2{1W/Reminder theorem/BATF G419 /Factor theorem/ AT W/Vanishing Method 71 31
@IS f(x) = x*-4x+3 9T Sl I TRATF F02
- f(x) = x*-4x+3

f(1)=1%4.143=0
FOIR, x = 1 1, (x-1) = 0. (x-1), f(x) 9F GBIV G=AWH A f(1) = 0 O3
OO By T — YA PO 2 T4 (I IR TAMS I &Y 94, 374 '8 Middle Term (I
fZ3 R AL F1 IR AT OLA ST SHATTF FIRIT Of FICO J | IBO, (1A I F9, Middle

Term, 3@ RIS P (5118 GIBTS OO SAWy 71T T 78T | (Fe

1. 4a*+1lat6

= 4a>+8a+3a+6

= 4a(at+2)+3(at2)
= (at2)(4at3) Ans.
2. 4a*tllat6

= 4f¥, fla)= 4a>+11a+6

SJOTNR, f(-2)= 4(-2)*+11(-2)+6 =0

f(-2) T, (a+2).f(a) 9T 9TV SRA|
SJOTNR, 4a2+11a+6

=4a’*+11at6
= 4a*+8a+3at6

PSPPI OIS PSPPI PSPPI PP IP PP PP PP PP PP PP PP PP I PP PP PP PP IP PP PP PP PP PP IIII PP PP IIII PP IOPOOIIIOPIIIIIIPIIIIPIPIPIPPIPIIIPPIIIIPIPIIIIPIIIIPIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIPIIPPPIIIIPP
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= 4a(at2)+3(at2)
= (at+2)(4a+3) Ans.
a*-4a+3

4fS, fla)=a*-4a+3

f(1)= 14-4.1+3
=0

SOANR, a*-4a+3

= a*-a3+a’-a+az-a-3at+3

= a’(a-1)+a*(a-1)+a(a-1)-3(a-1)

= (a-1)(a*+a’+a-3) Ans.
BT B3 x B ST 4,3.2,1,0/3.2,1,0/3,1,0/3,2,0/4,0 | TR Middle term 8 77 YT SIS
RIEIG]
— P TR I 147 1 A @ 50 JFIE BIF FIRARTI. SIICT B2y I¢eT 1 Fads
— qd ?FT?I, f(x)= x3+6x2y+1 1xy*+6y>

f(-y)= (-y)+6(-y)’y+11(-y)y*+6y* = -y*+6y*>-11y*+6y> = 0

SOAR, (x+y), TR 9T S|

QYd, x3+6x2y+1 1xy+6y>
= x3+x2y+5x2y+5xy*+OXy2+6y>
= X*(XFy)F5xy(x+y)+oy*(x+y)
= (xHy)(+5xy+6x2)
= (x+ty)(x*+2xy+3xy+6Yy?)
= (xty) {x(x+2y)+3y(x+2y)}
= (xty)(x+2y)(x+3y) Ans.

SAIRFT 8 IPAq! Y3R HofHed [Hedai

a*-21a-20
x*+6x2+11x+6
a3-3a%b+2b3
x3+3x+36

a* -4a+3
2a3-3a%+3a-1
x3+3a%+4x-4

x% x5 +x*-x3+x2-x
x3+6x%y+11xy*+6y?
10. 12-+4x-3x>+x3

11. 2x*-3x3-3x-2

12. 3a*+2a+5

13. 6x>-7x+1

14, x3-3x*>+4x-4

15. 18x3+15x2-x-2

16. x3-x-24

17. x2-5x-6

18. «JIp ¥ I3 (A IR

©oNoO Bk wd

LD RIGACRSE
1) GFIF ST 8 @ TR QAP A0 T B 3
F) A X 5A A TR BRI DU G0 AINFIEAT T SFPT 59 9
9 X - o 99 A1 [T 59 2
ﬁ)aﬁﬁwc&,xhx—ﬂzuy
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@, SuAH =0 X0, o T, a7
4, yuaAf =10, A= 38!7.",

(c - a)* GF W TG

o, SO T, S A, =
zb2+b4 21 3R a +ab+b2=’7 4
uﬂ‘«a>b

. a’—ab-+b? g W+ fAfa ¥4

Q. o ¥, 8ab (2 + b?) = 80.

A, a8 b a@ A .
w:ss%mlooootm3mwm [

%, G Brom wRe A fadn =
4, mewemﬁnmm
o, af Bo AR A4 45.75 BTl ZH BB

“Afae S Breet ZA?

2
3, (x_;l(-) A A IG?
% cmmm,x3,+~l::=l98u

J

A, oM DAL, 5 = —6726
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a7z TERE @IbL CTHIE AP FIOH SIAIR, WA ATIFH ST AAQAR

HSC/SSC-Science

* General Math *ICT

* Physics * :
* Higher Math - E'ngllsh (1st & 2nd)
* Chemistry Biology

HSC/SSC-Commerce

* Accounting * General Science
* Finance *ICT
* General Math * English (1st & 2nd)

Class Five to Eight

* English 1st Paper * Bangla 1st Paper
* English 2nd Paper * Bangla 2nd Paper
* General Math * Religion

* General Science  * Social Science

Model Test

* Chapter Basis Test
* Weekly Test

* Monthly Test Test
Before

School

Visit our Coaching Center and ,
Semister

get FREE Class for
REALIZE our Passion...
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| ﬁﬂl—v S: I R ﬁcfm Sreenfafes wifém TR - f5@- a: Solid Mechanics @ %iwnﬁﬁsas firg

~

4 vV = lmmetscd volume, [length’]
B = bum. [length] - /
; p ) T = dnft (length] e
: » I. = Icnxth betwccn perpcnthculns. [kngth]
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YT o6 HAFE0ET FRFs

6. Exponentlal :
~ Example: 2x 107 =?

Caleulation :

BRI

 Bumplesdxi0ter
© Coleulation:

SILIEEIBIE

Knowledge is not a power, where practical knowledge is a power.....
Mind it...That’s all for the time being.
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